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Bl HiE

Pirate's Highway

g~
SRE
—
s
N
[a5)
Z 5
2 E
T
g5
5
<
N

£ M
£
=
=
& —~ |
S &
£
R
o0
Bl
Sun
]
Y
N
Lo
I~
2
=i i
N
=
[
@»n
%]
[~ES S
AVAm

ANIVJ

=60)
3

[B/Poco a poco stringendo d

|
I

| | |

1/

pP—— mp—— P

poco a poco accel.

13

Va)

O

cresc.

M

=76~80ca.

152~160¢a.) [C] 4

4=

(..

18

=

L3

7
S

D] J-144~152ca.

23

———&P

=nf —p

mp —— ff

<Q

28

)/

<‘l.f

Jf=mf

mp ——— I

Al

M
Al
Al

33

|_3_l

A

poco a poco accel.

Va)

38

o

cresc.

© Copyright 2018 by Brain Co., Ltd. (Hiroshima, Japan)

All rights reserved.



1st Trombone in B
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1st Trombone in B
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1st Trombone in B
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